'IITPAL - SWAYAM.
Tips and Tricks:
‘Tip=1
" Inverse of a mafrix'usiﬁg-déterﬁinanfsa '
.The product of a matrix A and its adjoint is equal to unit matrix multiplied by
_the determinant A. ’

‘Let A be a square matrix, then (Adjoint A). A = A. (Adjoint A) = | A |. I

We know that, A.(AdjA)=|A|l or AAd4) (Provided|A| # 0)

|A|
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- Illustration 2: If the product of a matrix A and {2 0] is the matriz [ ],

“ then Al is given by:

R P A T A
: (d) None of these

) This is an example of above trick.
. Solution:

- (a) We know if AB = C, then B A 'l=c'=A41'=Bc™! by using this formula

: we will get value of Al in the above problem.
. -1
,Her'e,A11:32:>A_1:1132:111—2:01
2 0 1 1 2 0f[1 1 2 0j[—1 3 2 —4
. Tip-2’
. Degermiﬁaht:of én'Aéjbiét'métri%

det(AB) = det(A)det(B) ——> This is a useful property of det. worth
. . I:emelr‘lberj.‘ng. ) . . . . . .

det(Adj(A)) = det(A)N-1) | 'A:is: N . N m;'zlt?:i:‘c |

. fip—§

Theorem: Inverse of A exists If- and. ohly if.det (Af is non zero. -



